1.

1G22 S S

. ity O LB R 0 B IR AL M

BB KM BB 0 LRIV R 2 — K5 ?
(A) @-R% 1 B2 fe—-

(B) =: B+ 30 B2 HA«/R% 31 H
(C)=:s8% 29 BBl <A~ e
(D)=: B+ 28 Bl <M~

=H

LGB TV BL B R B R B8 :J&E:f AMEE 5 A 19 5ReE 6 A 1 ReBLKS

#B: 2R B R N0: R BB 0 Brpifgs B B BB FRL - BB REEBT 0 Eofs
N BRZ— BRI TR ?

(A) 11

(B)10

(€)9

(D)8

CINERC TR H B R R BB RUEMESE LD 097 O K BTSSR 80 395 8
{6 VB 07 BT 5 SR INEES — BB T 2 B B B 07 BT 2

(A) 63

(B) 72

(C) 81

(D) 90

INRVEBY T MR BL B IR G RE R 0 fr B BTN T RS RITEYRL 56 BBEE
Bl FiRREY — K BBy Ee ?

(A)6
(B)7
(C)8
(D)9

. 87+1+()+31-26=113> &M ) B8 ArHr— BB -Fr?

(A)17
(B)18
()19
(D) 20

©2024 FRFEFTE ZEEERIEE € (TWMC) www.twmce.org.tw



6. -4 =113> 666—4 =@ W¥RLlI =345> AREQRLZIVL?
(A) 434
(B) 343
(C)334
(D) 443
7. E~3K$ (200 — 199) x (198 — 197) X (196 —195) X - x (4 —3) x (2 —1)=?
(A) 200
(B)100
(C)50
(D)1
8. 2024 F:89: 2 Be 14 @-igFF»=: » F@-f% 2023 892 12 A% 25 Bz Fr%e?
(A) B=
(B)—-
(C) =~
(D) =s
9. 9 H=M-&-/\ N4 AB,C,D E:88-F% > B0 L& /N Jeny: iR F;EAE By RSy 2 Hi
RS 10 BY2 IE2 B > BoM-8. NIV 8- J|ERIAF By 720 0 R:iE:ME-E I
892 BR= J|EKREFOL o

1012 0~ 1~ 2~ 3+ 4 AEEEFDf » FoB-BO- B8 F-A7 R - 8% »
Rs#B Rk 892 BBV Rla R HE FA 2z 5 0 B2 12 BB 2P0 ?

[=1111}
Bt
R~

©2024 [HERTH ZEBEREE RS (TWMC)  www.twme.org.tw



